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01 = LH 4 Hi 5,400 5,400 0
OMEoR HREX 5,400
206 M= Hl 20,000 17,000 3,000
01 M= 4l 20,000 17,000 3,000
OMeoldxXelE Xt 20,000
— &I 128 14,000
- 2LAXM 25 6,000
Folotd &2 203,640 136,220 67,420
< 18,800
[ 184,840
Metotd £ 32 203,640 136,220 67,420
< 18,800
e 184,840
FolMeor™ CCTVY X & 22l 109,640 136,220 A 26,580
201 Let24E] 39,640 33,220 6,420
02 =224l 39,640 33,220 6,420
OXge=g8 CCTV &8I
20,0003 *25JH A =120 & 6,000
OXnge=E CCTV SHE=
95,0003 *26 K 2 = 1201 & 29,640
Ooxge=g TV A2+ 4,000
402 RI2HX20l 70,000 63,000 7,000
01 212t 2 AL E = (REM ) 70,000 63,000 7,000




2 X oFM TH LI}
& ZoloE £
CHelr MEOIN €9 SR CED
- _ _ RE]
SA BB (SH) - NRAY - B %Ei 2t
Os&0ts =Y | M= CCTV & X AIY 70,000
- sE02 FEHAMPAS CCTV Al F&E X
2,500,000 = 10CH 25,000
- sE02 [2EHA M 2SS CCTV F=IOIE X
1,500,000& «30CH 45,000
FOIMEIOIN XIS L SN CCTVAEXI A 94,000 0 94,000
& 18,800
= 75,200
405 Xt &HE S b 94,000 0 94,000
& 18,800
= 75,200
01 XAt 2 3 5 94,000 0 94,000
OZol Mol U SHH CCTVAX
wH 94,000
& 18,800
= 75,200
HESHAH (LA THH D 27,245 26,825 420
=244 27,245 26,825 420
Jl 23l 27,245 26,825 420
201 Bt 15,005 14,945 60
01 AP 22| H| 13,445 13,385 60
RERE=2 2,280
— = 2K 15,000 45 «12& 720
— Xl gtXl 10,000 *13=&5+12& 1,560
O=ANEXN 7 20,9003 6 A x 128 1,505
OEAD| X2 660,000 x12& 7,920
OARA 228 2 100,000& 12& 1,200
O&FED| X2 45 000 x12& 540
02 2224 H| 1,560 1,560 0]
Odzle= 130,000& 12& 1,560
202 044 8,640 7,680 960
01 2L Y| 8,640 7,680 960
OetdE L A 8,640
203 YR = X Y| 3,600 4,200 A 600
04 EASIEAR 3,600 4,200 A 600
OEM29Y 300,000& x12& 3,600
HEE=(CHETH D) 200,000 200,000 0
= H2h Xl & 200,000 200,000 0
=2 200,000 200,000 0
702 1282 200,000 200,000 0
o1 01=2ds2 200,000 200,000 0
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